PRODUCT
WORK CHAIR 6931

HEADREST N/A
/ BACKREST 2998
- \\—// NN
‘ A ,

ARM RH when seated ZO63RA
ARM LH when seated 2063 LA

BACK BRACKET/MECH
[ \ J / N/A
] SEAT MECHANISM
Z99S SCREW DIMENSIONS
o U =
MECHANISM °
zor53 X O
Y 14
= GAS LIFT
= 23 || & )9
TELESCOPE 735
% FIVE STAR BASE 2020
@7 CASTORS
Z03

FIXINGS M6*36mm (arm screws) x8, M6*20mm (mechanism & backrest screws) x4,

M6*25 (mechanism back screws) x2, M6*16*1 (washer) x6

UNIQUE PARTS

NOTES




